Adda247

Bi_har Vidhan | previous vear Paper
Parishad (DEO) 24 Sept, 2023



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ALL EXAMS,
ONE SUBSCRIPTION |

‘I
40,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
500+ Previous Year 500%
Exam Covered Papers Refund

DOWNLOAD NOW


https://applink.adda247.com/d/5zsmwiLHz7

Adda247

If 2.5 f three-foiirth of a number is 174,
the5n what is that number ?
(a) 232 (b) 326
(c) 435 (d) 580

Rl wom & dim-sherd a1 2 af 174 @),
o 98 W e @ ?

(@) 232 (b) 326

() 435 (d) 580

If —2— of % of a number is 782, then

what is —g- of -‘li of that number ?

(@ 231 (b) 236.6
(c) 246.5 (d) 234.6

W#@T%%ﬂ%uﬁ:mzaa‘rsﬂ'

3 1 3
T & — & 2 &7 8r ?
4 5

(@) 231 ) 236.6
(© 246.5 (d 234.6

A student was aéked to;ﬁnd out —2— of a*‘

number. He divided that number by g

Due to this his result was 10 less than
the correct answer. What is that
number ? '

@10 i ) 12
© 15 @ 18-

-Wﬁm&ﬁaﬂ%#@?ﬂg— ﬂmﬁﬂ'ﬁ*f
P o w2 A |
Rt R e oo Wl e R 0@ |

1 T e e g 7
@ 10 "(b):_,'12 .
L @15 @18

_ ([“?__.3') o

GET IT ON
Google Play

u-y=3."f+Z!IthenzI.l 3+3" e

If x

(a) 18 (b) 29

(c) 32 (d) 38
Hf?«x*y=3x+2yiﬁ, Me2*3+3* 4=2
(a) 18 (b) 29

(c) 32 (d) 38

d 32 hockey
The cost of 24 bats an
sticks is Rs. 8400. What is the cost of 3

bats and 4 hockey sticks ?

(a) Rs. 2100

(b) Rs. 4200

(¢) Rs. 1050

(d) Cannot be determined :

24 qodll  TUT 32 B WG B A To
8400 §| 3 ol @A 4 Bl Ve & T
R B ?

(@ %o 2100
(b) Vo 4200
(c) To 1050
@ fuiRa & foar o w0

The average age of 80 children in a class
Is 15 years. Out of these, the average
age of a group of 15 children is 16 years
and the average age of another 25
children of the class is 14 years. What is
the average age' of the remaining
children of the class ?

(@) 15-25 years

(b) 14 years _

(© 14.75 years |

(d) Cannot be determined

Uh BT H 80 Fw P ol oMy 15 ¢ 2|

() 15.25 aﬁ |
W 17

MR
@) Frife & o o wwr
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0. . TF ma @l s # 10% @ 3 o

| The ratio between the speeds of acar.& | 9 - § 10% B T FE R T A B g
ceoooJeep and g tractor is 3 : b 2 10% £, e
~ Tespectively. The speed of jeep s 250% (a) 1% @ gf& grft
of the speed of tractor. Tractor covers a @ gl
distance of 360 km in 12 hours. Whathis (b) 1%
th d the
jeeEiJ 3v§rage speed of the car an © 10% & Fh gp*\:ﬁq
q
(a) 60 km/h (@ :{aﬂ'&‘ﬂﬂﬂm :IE&' artilHA 1¢
old two articles — article Aaf 1:
(b) 86 km/h 1o QO%rSS:HtS and article B at 20% Ioss.__l_{_é
(¢ 40 km/h made a profit of Rs. 18 in tfhsrt‘ivfll.ol.e,
(d) Cannot be determined transaction. If the cost price f0 arti f@ S
: {s Rs. 140 less than that o cle B|
7. TP PR WU 3R deex @ U B G\ A then what is the cost price of article B?
U FH 32 5: 2 ¥ A A R JoR B @ Rs. 380 (b) Rs.280
T B 250% ] deex 12 8¢ § 360 faHlo 0 “Re: 470 : J
s (¢ Rs. 340 (d) Rs. i
X T IR 2| PR AR Y @ i Lt A
foa 2 ? 10. TP afdd o & g - 9] 0Y 1
AW R W 9 B @ 20% I W g
(@) 60 fdHio /guer A2 § SN 18 o @I T ANl | I I 4
(b) 86 faHilo /ey WWWWB?WH§§140€OW
CRINC
(c) 40%‘?[0/5'03 ﬁﬁWBWWW
: %o 280
(@ iR =& & o Fed A ®)
%o 370
8. 3 litres of sugar solution contains 40% HERIE 0 (@ %o
sugar. If one litre of water is added to 11. Seema bought some articles at a certail
this solution, what will be the . 2 1=
percentage of sugar in the new solution? price, sold priarlaka profit of 20% an
1 . suffered a loss of 10% while selling th
(a) 135% (b) 15% remaining articles. If she got an overa
profit of Rs. 490, at what price did sh
() 30% (d 33% buy the articles ?
8. 3 elex o 3 i A 40% A 2| 5w O (a) Rs. 22450
4 @ ofier gm W W W oA # (b) Rs. 21500
 foer wfererer =Y &l ? (c) Rs. 26650 i3
d) Rs. 24500
@ 1310 (b) 15% \d) <Rs; 2450
3 1. ¥ 3 @ AR g w T Ao @
0 2
© 30% (d) 33% SET = T B 209 A W Yo7 aig e |
9 On increasing the length of a rectangle :
4 by 10% and decreasing the breadth by Al @l BiLRSL 10% & iG] E_&‘I 4
10%, the area of the new rectangle : Sk ol AR 490 B0 BT A T, @
(@) will increase by 1% ot ¥ W IRY G} o ? ' 14
(b) will decrease by 1% (a) 022450 | ”
- (©) there will be a decrease of 10% (b) %0 21500 q4-
(d) there will be neither decrease nor (c) 026650
increase ,
- (d) %0 24500
4 G (©:4)
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12.

12.

14.

14.

Two alloys contain tin and iron in the
ratio 1 : 2 and 2 : 3, |f both the alloys
are mixed in the ratlo (by welght) of 3 1 4
respectively, then the ratio of tin and
iron in the newly formeq alloy is :

(@ 13:12 L) 14. 15

(@ 16:11 (d 13:929

A M el ¥ Ry ek A @

mzﬁ%lvﬁiaﬁﬁam@aﬁﬁ =
3: 4% AT ¥ (g0 il
3 S B ey 4 o sy

A &
(@ 13:19 b)) 14:15
© 16:11 (d 13:9292

The ratio of the present ages of Manthan
and his mother ig 3:7 respectively and
the ratio of the present ages of Manthan
and his father jg 5 114 respectively.
What is the Tespective ratio between the
present ages of Manth

an’s mother and
his father ?
@ 5:7 b)) 7:9
© 3:5 d 5:6

I T S AR B a5 a1 o
P 317 & U W U 39 far ) s
SY T AT A 5 : 14 B | Hoe &)
W SUG U o oM oy & W e
U & ?
@ 5:7

(c) 3:5

(b) 7:9
"(d) 5:6

A sum of money doubles itself in 20
years at a certain rate of simple interest.

How long will it take for this money to
triple ?

(@) 30 years (b) 38 years
(d) 40 years

WERY & 1 7% e o) 9 9 o 20
af # QI & o B 59 o @ g B A
febe & e ?

(@) 30 q¢
(© 41ay

() 41 years

(b) 38 T4
(d) 40 T

15.

15.

GET IT ON
Google Play

. a certain rate of compound interest, a
1:1:?1 of money amounts to Rs. 2420 in 2
years and Rs. 2662 in 3 years, while the
interest is compounded annually. What
is the annual rate of interest ?

(a) 6% (b) 8%
(c) 9% (d) 10%
gy @ B Rl W Py gy 2 98

¥ 2420 %o auT 3 9§ § 2662 To B W 2,
wafs e aiffe W § Gl ear 21 @
B Tffd < fra 8 7

(a) 6% (b) 8%
(©) 9% (d) 10%
Directions (Q. 16-20) : In each of these

questions, there is a relationship between the
word on the left hand side and the nonsense
syllable on the right hand side. The same
relationship obtains in all the three rows, of
the four alternatives given in each question,

find the one that fits into the
the third row.

16.

17.

18.

19.

(D-5)

blank place in

WONDER

PES
CLUSTER MTF
MUSCLE %)

(a) LRK (b) NSMm
(© TBD (d) VDF
RESPONSIBLE  KHMOD
SENSITIVE USRD
CLARIFICATION  (9)

(@) MHZHHZ (b) KSEBSN
() NSBEQK (d PUDGSM
RHINOCEROS SKQGWY
MOMENTOUS NOHXZ
HARASSMENT (9

() GPDOZN (b) ITDWJZ
() BCVIYL (d) ISTNOM
SERPENTINE RNQA
PROSPEROUS 0QO0
REPORTER ?)

(@) ETU (b) DPO

(© sgH

(d QMB _
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Directions (Q. 21—25:))u. ;nofaifa
following questions, four gre ari»lke e
given, out of which three aéh i thé"’ e
way while one is different. o 9 4

"' PROPOSITION ?)

(a) OQONHSNM () Q@SQPJUPO
() ONNHHM (d) QPPJJO

, ﬁa’?r(nom-zo):mmwﬁ,mﬁﬁ
T I IR T AR B el o B v v
%‘ua‘sﬂﬁuwﬁeﬁwdﬁmﬁﬁmm%lmm
A Ry 0 R Reedt § Qv a3 gl o dead o A
R o 7 e aar 2

21. (a) BCDE (b) PORS
(c) WXYZ )
22. (a) UTSR N b £
(@ NMLK (d). ZYXW
23. (a) ABBC R
(@ HIlJ (d) WYYZ

16. WONDER PES
CLUSTER MTF
MUSCLE ?

(@ LRK (b) NSM
(c) TBD (d) VDF

17. RESPONSIBLE KHMOD
SENSITIVE USRD
CLARIFICATION (?)

(@) MHZHHZ (b) KSEBSN
() NSBEQK (d) PUDGSM

18. RHINOCEROS SKQGWY
MOMENTOUS NOHXZ
HARASSMENT (?)

(@ GPDOZN (b) ITDWJZ
(c) BCVIYL (d) ISTNOM
19. SERPENTINE RNQA
PROSPEROUS 0Q00
REPORTER (?)
(@ ETU (b) DPO
(© SQH (d) QMB
20. EXTRAORDINARY DWQZQCMZX
TRANSCRIPTION SQMRQHSHM
PROPOSITION (?)
(a) OQONHSNM (b) QSQPJUPO
(c) ONNHHM (d QPPJJO

(D-6)

(b) PORS

21. (a) BCDE
(@ WXYZ (@ STUW

22. (a) UTSR (b) IHGE
(© NMLK (d) ZYXW

23. (a) ABBC (b) PQQR :
(¢ HIJ (d) WYYZ R

Directions (Q. 24-31) In th
questions given below, the relationships ay
represented by certain specific codes [
symbols such as +, -, x, +, etc. The candidatg
are then required to analyse some given code
to determine the relationship between a set.

persons, or to express a given relationship
the coded form.

N/

Now, Read the following  informatig
carefully and answer the questions give

‘A + B means ‘A ig the father of B‘A
B’ means ‘A is the wife of B, ‘A x B’ means
is the brother of B A+p

daughter of B'. means ‘A isﬂ
24, IfP:+R
el +S +Q, Wwhich of the fOllOng'

(@) Pis the daughter of Q
b) Qis the aunt of P,

(© Pis the aunt of Q
(d) Pis the Mother of Q
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26.

27.

29.

30.

e

If. P “-—‘.-ZR o+ Q."’ which of - the
statements is true ? :

(a) P is the motherof Q.

following

:»{f  5,- M) Qis the daughter of P.
. [0 Pistheauntof Q.

(d) P is the sister of Q.

If P x R + @ which of the following
statements is true ?

{a) Pis the uncle of Q.

., (b) Pis the father of Q.
(c) Pis the brother of Q.
(d) P is the son of Q.

If P x R - Q, which of the following is
true ?

(a) P is the brother-in-law of Q.
(b) P is the brother of Q.

(c) P is the uncle of Q.

(d) P is the father of Q.

If P+ R + Q, which of the following is
true ?

(a) P is the brother of Q.
(b) P is the son of Q.

(c) P is the husband of Q.
(d) P is the father of Q.

If P + R + Q, which of the following is
true ?

(a) P is the father of Q.
(b) P is the brother of Q.
(c) P is the mother of Q.
(d) P is the sister of Q.

If P x R + @, which of the following is
true ?

(a) P is the uncle of Q.

(b) P is the father of Q.

(c) P is the brother-in-law of Q.
(d) Pis the grandfather of Q.

aef ®

24.

25.

26.

27.

28.

(D-7)

If
true ? v

IR

GET IT ON
Google Play

- x  which of the olo¥D

(a) P18 the sister of Q.
(b) g is the husband of P.
(c) Pis the sister-in-law of Q.

(@ Qis the son of P.

frdar (0 24‘3{%11)%% ;TT%‘ f

A, BW U & AxB
‘A+B’ﬂﬂ$@4‘%‘A,B’ﬁé€r%’ |

P+R+S+Q$Wﬁﬁﬁﬂﬁfﬁﬁﬁ'\qm
T 8 ?

@ P, QB ITE (b Q,Pa?rgeﬂ%
© P.Q#AINE (@ P.QHFAE

pP_R+Q @ Wy # FefiRed o A 9
P A © ?

@ P.QAALT (B QPHIAE
© P.Q@TNE (@ P, QB Ao

PxR+Q @ G ¥ ffofad § & aF-—41
T g ?

@ P,QBHAAE () P,Qd fam g
© P,QHWMEE (d P,QPT I

ng-Qa‘vﬁdaﬁﬁﬁrﬁvrﬁqaﬁ%ww
?

(@ P,QP WS (b) P, Q&I ME

© PQFHAME (d) P,Qd R
g;R+g$ﬂ"eiaﬁ frefefed 3§ & @ W
@ P.QANER (b) P, Q@ ¥ 3
© PQFWE (@ P oIRWE
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- 20 gﬁ‘jmgz% < ¥ Pt ¥ @ T @@

@ P.QdfME ) p o e

© PQHHR () Pg@ITER
30. ng+Q$mﬁﬁﬂﬁ1ﬁaﬁﬁmm
?
@ PQ@aWE m P.QdR@E
0 P.QHEIRY (d) P,QDTEE
31. P-RxQ ® day § FrfoRaa § @ &0 99
g?
@ P.Q#ATETLE M QPIUE
© P.QR MY (@ QPHIR

Directions (@. 32-34) : In each of the
following questions, a word has been given,
followed by four other words, one of which
cannot be formed by using the letters of the
given word. Find that word.

32. CONSTRUCTION

{a) SUCTION (b) COINS
() CAUTION (d) NOTION
33. OBSTETRICIAN
(a) SOBER (b) TERMITE
(0 RETAIN (d) SIREN
34. INTELLIGENCE
(a) TILLAGE (b) INCITE
(©) GENTLE (d) NEGLECT

fadw @mo 32-34) : F=faRad & A s yA
i g 9 AR IR Rew Ry v &) Rew & R
T B UG U, W § U M0 W & quit &1y
IXG T Tl ol qHhal 8 | 99 UK BT S Py |

32. CONSTRUCTION

(a) SUCTION  (b) COINS
() CAUTION  (d) NOTION
33, OBSTETRICIAN
(a) SOBER (b) TERMITE
() RETAIN (d) SIREN
' 34. INTELLIGENCE
. (a) TILLAGE (b) INCITE
() GENTLE (d) NEGLECT

(D-8)

GET IT ON
Google Play

Directions (Q. 35-39) . Study j th
followlng information carefully and answer th
questions given below : e

In a certain code language :

“Never talk between others” is coded as
“sm nt ro f1”

“Others should be helpful" is coded
“ro el ac jq"

“Never be time specific” is coded as *
dg el pa”

“Focus between specific hours” is coded
as “hy dg nt ks”

35. What is the code for “Never together” ix 36.
the given code language ?

(a) ntro (b) rofi
(d) jgnt

36. What is the code for “specific” in th37-
given code language ?

(@ dg b) ac
(@ ja (d fi

37. What is the code for “Others” in tH
given code language ?

(b) 1o
(d pa

38. The code “el” is coded as which of il
following word ? 9.

() fiuy

(&) sm

() el

(@) never (b) time

(d) be

39. What is the code for “time” in th
code language ?

(@) ks
() hy

frdw (o0 35-39)
MRS FEITT T AR :ﬁ-a

T fAfE il g y

“Never talk between

0" & 9 ¥ PR Ry

(c) focus
€ givl
(b) sm
(d pa

ﬁﬂﬁx&«mmﬁ
ﬁ?‘wwﬁ%wq

others” @) “sm nf

T R
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f“(r)thers should be helpful” @ “ro el ac
g ® WY ¥ I A T E

“Never be time specific’ @ “fi dg el pa”
B w7 ¥ IR fhar T E
“Focus between speéiﬁc hours” &l “hy
dgntks™ ® w9 H DI fmar my 3

35‘." @ T T W ¥ Never together' & frQ
e 1B ? v

() ntro (b) ro fi
(). . uy (d jqnt

-_‘ﬁ“_&;?g?wf[‘ ific’
36 S specific @ U &1 Pre

@ dg b) ac
| (© jq @ fi

37. é’rﬂs‘azc’wﬁ‘omers’zﬁmwaﬁa
BT ?

(@) sm (b) ro

'(c) el d) pa

38. @¢ ‘el' @l frfofag § 4 fow o= & fow
- Tedg b T g ?

(@ never (b) time
(c) focus (d) be
39. @ T3 G 9 A ‘time’ & U Pls R BTN
(@) ks (b) sm
() hy (d pa

Directions (@. 40-44) : Read the
ollowing information carefully and answer the
|uestions given below :

i) There is a group of five persons - A, B,
C,DandE.

i) One of them is a horticulturist, one is a
physicist, one is a journalist, one is an
industrialist and one is an advocate.

ii) Three of them - A, C and advocate
prefer tea to coffee and two of them - B
and the journalist — prefer coffee to tea.

(iv)

v

(i)

(ii)

(i)

(iv)

)

(D-9)

The indusfrial

GET IT ON
Google Play

ist and ‘D sand” A - are i
friends to one€ another but two Qf them -
prefer coffee to tea. : _ ]

The horticulturist is C's brother.
Who is the horticulturist ?

40.
@ A B) ;B
(c) C (d D
41. Whois the industrialist ?
@ E b)) C
c) B d A
i i des a
. Which of the following groups 'mclu
- per;on who likes tea but is not an
advocate ?
() ACE (b) DE
(c) BCE (d) None of these
43. Who is a physicist ?
(@ A (b) E
(0 D (d C
44. Which of the statements given above is
superfluous ?
(a) (1) (b) (iv)
() (i) (d) None of these
T (o 40-44) : Frrfofea a1
WIS 03 3R T R Y get a1 v

?Wﬁww—A,B,c,Deﬁ?E
|

I W T ST e 2 v e Re

;WW%‘,WW%@?@W

SH ¥ A - A C ok aw @ e
T NI T E AR S WS - B ok
TR — DIB! BT T W G o §
glﬁﬁﬁﬁﬁﬁﬁmaﬁmﬁzaﬁgg
S faRvs ¢ w1 i 2
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40.
4,

42,

43.

S foRNE i 27
WA e S
”(é) Cx ‘ ' V(d) D
SR B & ?

(@) E b) C
(0 B @ A

frefoRea & 3 o v & wife <fie 9
UHE AT ©, ifs 98 gl el & P

(a) ACE b) DE
(© BCE (d) $W A PR T
Wie s a9 2 ?

(@) A b) E

(¢ D @@ C

SWR S0 U FF § | BH—T H2F 3Fa9aH
g7

(a) (i)
(o) (i)

Direction :

) (iv)
(d) ST 9 FIE T

Select a figure from the

Answer Set (figures a, b, ¢, d) which would
continue the series indicated by the four
figures of the Problem Set (1, 2, 3, 4).

PRI (PIT a, b, ¢, d) F Th

Wﬁﬂﬁﬁﬁma@maﬂmwﬁﬁ
(@mfa 1, 2, 3, 4) g1 T Gl BN W ¥ |

45.

Problem Figures (43 quaﬁ?ﬁ] :

VI WIW

- (@) (3) (4)

Answer Figures (ST Wﬁ'!ﬁ) :

(a) (b) (c) (d)

. 46.

46.

47.

47.

(D-10)

GET IT ON
Google Play

Which one of the following is not é
lagoon? S

(a) Ashtamudi lake
(b) Chilka lake

(c) Periyar lake |
(d) Pulicat lake ' g
Fretfeiee 5 & Bt-w1 @ d 78 &7
(a) YA el
(b) fereer giet
() IRAR Fe
(d) Yferde el

A geographic region has the follo
distinct characteristics :

1. Warm and dry climate
2. Mild and wet winter
3. Evergreen Oak trees
features are

The above

following regions ?
(a) Mediterranean
(b) Eastern China

(c) Central Asia
(d) Atlantic coast of North America

fbdll v Ao &3 @ g
femferad 2 -

1. 99 3R Y& e[
2. gEradr 3R 3% Madra
3. VCNER & qo

S PR PR 4 Y R v |
) e R & ? Wf

(a) IR &5
(b) Wl &=
(c) W gRmn
(d) ST RS BT sreenies qo
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48 Where did Netaji Subhas Chandra Bose 51. : T & ? ‘
4“8," "‘i"vf:anw‘l:aegince the formation of the WEd B Farferd faan

~ Government of Free India in 1943 ? @ S Frafed (fo THo aio)
( a) vsiflgapom (b) Shanghal ) : 5 oTaT S m@m
" "{0) Berlin (d) Mandalay .
48. N YN T 99 ¥ 1943 § aee R (c) ot wAreTd i
# WPR D T P O P o) off ? () g RER aReg (G0 o o) |
) TR ()" S 52. Which one of the followi?gnct::)el:.nt:;ii:}‘sl
OREISE (@) #ied ' shares the longest land fro
' India ? :
49. The Andaman group of islands and the A4
Nicobar group of islands are separated (a) Myanmar (b) Nep
,by which one of the following latitudes ? () Pakistan (d) Bangladesh
(@) 8° Nlatitude (b) 10° N latitude 5o PrefRed § O 59 39 @ IRG @ @Y FEQ
(c) 12° Nlatitude (d) 13° N latitude T ey @A 27
% A B o, o .
49. af?;f%ﬁaa ﬁmgﬁmﬂjm (@) AR (b) UTel

(c) Ui (d) aFarcE

53. Which of the following is the highest
peak of South India ?

(@) Anai Mudi (b) Doda Betta

(@) 8° N 3y (b) 10° N 3Eey
() 12° N 3y (d) 13° N 3wy

50. Afro-Asian solidarity as a central element
of India’s foreign policy was initiated by

which of the following Prime Ministers ? () Guru Shikhar (d) Mahendragiri
@) Narendra Modi 53. frefoed % & < Wk @1 wew A A
(b) I. K. Gujral DI & ?

(c) J.L.Nehru
(d Manmohan Singh

(@) SRS (b) SRNear

: ’ c ‘_R?QEN d) =R
50. T ¥ bW wEE ERr omhie-cRmm o =
Uoyjedl & 9Rd @ ey iy @ ST T 54.  Between which two mountain ranges is
> o7 & are Rt T ? the Valley of Kashmir situated ?
(@ T A (b) 3MSo Bo Turrel (@) Ladakh and Zaskar
(© To Tco I&®  (d) FIEA Rig (b} Great Himalayas and Pir Panjal
’1.  The Prime Minister's National Relief () Great Himalayas and Zanskar
Fund is operated by which one of the (d) Karakoram and Ladakh

following bodies ?
54. &7 3 vy Hfpg

(@) The Prime Minister's Office (PMO) v P my FYR 1) Rerg 37

(b) The National Disaster Management (@) T T WRepw

Authority (b) T&T forrer & o oy
(c) The Ministry of Finance
4 (d) The National Development Council (©) TT feurer g I

- (NDQO) , (d) PRERT 7 g

(D-11)
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55.

56.

56.

57.

57.

58.

Arrange the following Indian States in

descending order of their geographical

areas :

I.  Rajasthan I, Tamil Nadu

Ill. Maharashtra IV. Kamataka

@ I IL I, v M) 1L, LIV, 1

(o LILIV. I (d nLiIv, 11

TRa & Frafafeg ot @ 970 Ao &
T UTH B9 § @i i

I o . dREg
. HERTG V. $Hicd

(@ I, IL I IV ® LIV, I
(© I,ILIV, I (@ L1V, 1, 11

Which of the following islands of India
has volcanic origin ?

(a) Barren (b) Car Nicobar
(c) Little Nicobar (d) North Andaman

T B 5 2 &1 SgH WIAHEd € ?
(@ b) PR FEER

© flee FeRRr  (d) ST A0

The Decentralization System was
recommended by :

(a) C. Rajagopalachari

(b) J. B. Kripalani

(c) Balwant Rai Mehta

(d) Ashok Mehta

fagarexr Joel & RIwIRe fedt @ off ?

(a) o ISR
(b) Sio o U
(c) dorda NG Hedl
(d) FAH Fedl

Mahalanobis Plan Model adopted in
India in the mid-fifties aimed at :

{a) building a strong defence industry
base

(b) setting up heavy industries which
were capital intensive

(c) curbing inflation in the economy

. (d) removing unemployment within ga

short period

58, . qRA § MA-SMUATH (mid-fifties

59.

59.

60.

60.

61.

61.

(D-12)
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T e e Afee @1 Sl A~
(a) TR @ ST MR T .,
(b) mmaﬁwmﬂ’f‘ﬁ",

o 5

(d) mm&wﬁwﬂﬁm

Dockyard has been unearthed fr_?
which archaeological site 7 4

(a) Mohenjo-daro (b) Harappa
(d) Daimabad

(c) Lothal
m%ww%wﬁmgm% S
(a) FEFTSIGrS! (b) &S ¥
(c) frerel (d) <uEE

Which metal played an important role
second urbanization ?

(a) Gold (b) Silver

(c) Copper (d) Iron

i e A P9 aig B TE 3
e

() W (b) =red

(c) dfan () aer

In India, a cultivable land which is 1,
uncultivated for more than a year by
less than five years is labeled as

(a) cultivable wasteland
{(b) current fallow
(c) fallow other than current fallow

(d) barren and wasteland

USENEA I G Y
ST A o T D P @ R D A
P ({1 i) 8IS far v & a1 w1 @

g7

(@) P9 §oR YA

(b) 7y, T YA

(c) e, el A | FoR oxeh qfdy
(d) TR AR TR
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llowing - statements in

62 cgris;i_'c\l’éﬁ:*zthe” fo al Rights and

© " respect of Fundax:nent

- Directive Principles : "
1. The constitution  gives

l ';uh;dmental Rights to the peoplei
but Directive Principles are mean
for the Government.

2. The fundamental
justiciable, but Directive Principles

are not because they cannot be
enforced by the court.

Which of the statements given above
is/are correct ?

(a) 1 only (b) 2 only
(c) Both1and 2 (d) Neither 1 nor 2

62. [mlRed ooFl W) 9o IR 7 FRwe el

@& ot A fagw @ifor -

1. WfeEH ol B T JRER A R, W
eve aw@ WeR & I & |

2. A IMBR WA T, W (U T T
HRIAT S Fobe |

Sed § @ -1/ w2 /8 ?

(2) B 1 b) ad 2

(© 13R2 <M d TT1IRTY 2

53. How many Zonal Councils were set up

vide Part-Ill of the States Re-
organization Act, 1956 ?
(a) Eight (b) Seven
(c) Six (d) Five

3. AT YT ARRE, 1956 & UM- 1l &
GRY foae afrafers aRyS el & g off ?
(@) 3c (b) WId
(© B (d) U=

4. The total number of members in the
Union Council of Ministers in India
shall not exceed

(@ 10%. of the total number of
members of the Parliament

(b) 15% of the total number of
members of the Parliament

(@) 10% of the total number of
members of the Lok Sabha

(d 15% of the total number of
members of the Lok Sabha

rights  are

i

65.

65.

66.

66.

67.
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b) g @ waddl
(9] mm?ﬁ
gferard

(d)mwﬁmﬁaﬁmmjsh.v,

ing is the most
one of the follow .
X)ﬁgsable characteristic of the

Mediterranean climate ?

(a) Limited geographical extent
(b) Dry summer
(c) Dry winter

(d) Moderate temperature

T ey B Wi T SRR
Arefeed § @ PN © ?

() TRET Aferd favar

(b) Y W%y

(c) T Sﬁﬂ—ﬁ

(d) A=Y () 9

Jimmy Wales is the founder of
(@) Wikipedia

(b) Google translate

() Machine translators
(d) None of the above

Rl e foreren < & 2
(@) fordifEa

(b) T TRfere

(© 79 Tigeresd

(@ ST 7

WhiCh one o

SN f the following is the motto

(a) Unity and Discipline
(b) Unity ang Integrity

© Unity and Commapq
(d) Unity angd Service


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

% ';_'NCC 37[ aTI?:Qf-am ﬁqﬁm ﬁ @[ a,‘h—-w

(a) -y 3R W
S (b)) U AR Wit

68.

69.

69.

70.

w70,

(c) 1764

(c) Vepan AR e

(d) U 3R [

In India, May 21 is observed as :

(@) NRI Day |

(b) National Youth Day

(c) National Technology Day

(d) National Anti-Terrorism Day

ARG §, 21 7 @1 R b9 G A FA AT

B

(a) NRI e

M) IS gar feaw

(c) w@ﬂﬁa‘rﬁﬁﬁw

(d) TSR Icdarg R e

The ‘World Economic Outlook Report’ is
released by :

(a) World Bank

(b) International Monetary Fund

(¢) Asian Development Bank

(d) International Labour Organization
g7

(a) foa §@

(b) R GaT D19

(c). ORr faer 9%

(d) IR 99 99

In which year Regulating Act was
passed ?

(a) 1753 (b) 1757
(© 1764 (@ 1773
YefET vae R as wiRa fasar Ty o ?
@ 1753 () 1757

() 1773

.

71.

72.

72.

73.

73.

74.

74,

75.

(D-14)

‘Whom had Guru Nanak 'aPP.

GET IT ON
Google Play

successor ?

(a) Guru Rarndas
() Guru Amardas
(¢) Guru Har Ral
(d) GuruAngad

gv THEF 7 A CURCEAN ﬁbﬁ ﬁﬂﬁ ;

(@) 7O IHGTH (b) T® mm

(¢ YT (@ T IS
World Earth Day 18 celebrated on :
(a) 22 April (b) 22 March - o
(c) 07 April (d) 07 March

frva gt R a T WA 2?7
(@) 22 3k () 22 A4
(c) 07 3l (@ o7 W
‘Alfalfa’ is :

(a) a kind of grass (b) a tribe

() an animal (d) atown |
HWHIH B~ 1
(@) TP TR P UM (b) TP SO g
(¢ TP 1Y (@) TP TR

Which State of India has borders .,'
three countries namely Nepal, Bhut
and China ? :

(a) Arunachal Pradesh B
(b) Meghalaya 8.
(c) West Bengal 1
(d) Sikkim
() SRV m (b) WEH
(© Wmmamd (@) Rifdww

Which Amendment of the Constltu
relates to anti-defection Law ?

(a) 51st (b) 52m
(C) B3rd (d) - B4th '
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75.

76.

76.

| 77.

77.

- @

247

e BT T R ST oA |79
s & IR 8 ?
@) 51 ) s2at
() 53 (d) s4af
in which sea maximum salanity 1is
obtained ? 80.
(a) Dead Sea (b) Red Sea
(c) Indian Ocean (d) Arab Sea
A AT R W Y o o @ 9
(a) d W (b) T AR
© RRmER (@) e -
Who is ‘called the ‘Father of Indian
Archaeology’ ?
(@) Alexander Cunningham
(b) John Marshall
(c) Mortimer Wheeler
(d) James Prinsep 81.
R R BT 5’ Y e ely & 2
(a) 3ciFoiey Hivey
(b) S Al
(0 HIiTR R
@ Wi fi 81.
Which dynasty of Delhi Sultanate ruled
for the shortest period ?
(@) Khilji (b) Tughlaq
() Sayyid (d) Lodi
Reeh Weer & foows o1 3 a0 o ww w | O
AR foparm ?
(@) fgeoi (b) el
() ¥z (d) @
A ‘closed economy’ is an economy in
which : 82.
(@) the money supply is fully controlled
(b) deficit financing takes place
() only exports take place
neither exports nor imports take
- place

(D-15)
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@ -G o W FEba e |

() ol e dare

(c) el Prafa 8 g ;

Who was the founder of Nalanda
University ?

(a) Chandragupta Vikramaditya
(b) Kumargupta

(c) Dharmapal

(d) Pushyagupta

el Rivafienerd @ weemad B o ?

(@ g7«
The Headquarters of the Southern Naval

Command of the Indian Navy is located
at which one of the following places ?

(a) Karwar

(b) Kochi

(¢) Thiruvananthapuram

(d) Chennai

TR AR & <Rl SR B a7 TR
Frfeifed # & forer v W & 2

(@) POR (b) g

(0 fogdagm (d) ==

Who formed B

ihar Provincj i
Sabha ? ncial - Kisan

(@) Swami Sahajanand Saraswati
(b) Ram Sundar Singh

(c) Ganga Sharan Sinha

(d) Ramanang Mishra

& wid R o gy ST fem foay ?
@) ¥ e e

(b) M g Rig

(€) W gRyy Rrgr

(d) MR My
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83.

- 83.

84.

84.

85.

85.

86.

86.

Which one of the following ranges forms

the water divide between Narmada and
Tapti rivers ¢

(a) Satpura (b) Aravalli

() Vindhyas (d) Kaimur
e & & ale-d wa gaer T R
Tt SR @ S o @) R FR & 7
(@) WG (b) IR

(© fig @ IR

Who was the first woman to receive the
Jnanpith Award ?

(a) Amrita Pritam

(b) Ashapurna Devi
(c) Mahadevi Varma
(d) Mahasweta Devi

ggell IR fow AR P File QR fAa

or?
(b) SMEMYUT <l

(@ 3 diew
(©) wEredr gat (d) HErdar <4l

Who has been awarded Nobele Prize for
literature in the year 2022 ?

(@) Alain Aspect (b) John F. Clauser
(c) Anton Zeilinger (d) Annie Ernaux
2022 ¥ ¥ifecd & oY e R 5 U5
foar mar ?

(2) Teld TRT (b) S Tho TR
(@ TTM fafeR (@) o s

Rate of evaporation increases with

(a) an increase of surface area

(b) an increase in humidity

(c) a decrease in wind speed

(d) a decrease in temperature

G 0| G ) B [

(2) JEN &F%d 7 gy g9 §
(b) 3fTsien ¥ gf B 9

(c) U9 ad H &9 g9
(d) T B P

87.

87.

88.

88.

89.

89.

90.

90.
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Which one of the followin

monatomic?

b) Sulphur |
(¢) Phosphorus (d) Helium '
ﬁmﬁfmﬂﬁﬂﬁﬂmmﬁm%? i
(a) ETEIOTT (b) HeWH

(c) BRERE (d) Sferam

jon used for cleaning purpos
i dy. This is due to the fai

(a) Hydrogen

appears clou
that soap micelles can

(b) scatter light

(a) refract light ]
(c) diffract light  (d) polarize light J
iwﬁ@ééﬁ%l%awmmu%%ﬂ
(@) VT Pl Juafdd IR GId & :
(b) T T feRId (FH) FR GHA ©
(¢) U &l fafidd & I 8

(d) U B gad R Fobd @ :

|
b

Which one of the following is not foni
in animal cells ?

(@) Free ribosomes (b) Mitochondriag:f

(¢) Nucleolus (d) Cell wall
e & 9§ s o, A

() I I (b) AR
(© s (@ BT ffy
Lr;t;n;}gli:r}: ?form the mammals excretei
(@) Ammonia (b) Urea

(c) Uric Acid (d) All of these
TR TR 9 B
() 3mifa

(b) -ua-ﬁ‘q.[ -
QTDRE (@ ]



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

~ D

RSSO, A}

e";?ﬁvtéﬁdency of a liquid drop to
atract and occupy minimum area is

(a) surface tension

() viscosity

] (0 density

{i . (d) vapour pressure

92.

- 93.

o1 @E P VT A g An o A

, L vkt T PR g |
@ TE T (b) T
(0 TS (d) a9 3w
Which one of the following is a vector
quantity ?
‘ (a) Momentum (b) Pressure
() Energy (d) Work
Frifeied 3 & S0 v wflkw Wl & 2
(a) WaT b) @
(© ol @ o

A girl is swinging on a swing in sitting
position. When the girl stands up, the
period of swing will :

(a) be shorter

(b) be longer

(c) depend on the height of the girl
(d) not change

V% eal ol W 931 Refd § g 3@t <& 2
S Sl b TS B W W YOS e ;

(@ 34 8w

) f¥e g sg

(0 @l o A w AR wer
(d 3mRaffa wm

The working principle of a washing
machine is :

(@) centrifugation

(b) dialysis

: (C) - Teverse 0Smosis

o (A diffusion

94.

95.

95.

96.

96.

97.

97.

98,
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(@) AT AR
(@ S W]

: ect =
e of the following is the corr .:

e (c)g of the given substances in the
der of their densities ?

sequen
decreasing or

(a) Steel > Mercury > Gold

(b) Gold > Mercury > Steel

(c) Steel > Gold > Mercury

(d) Gold > Steel > Mercury

S Ru 7y ool B, 90 O @ Ja¥IE)
AR, ST A DA & 7

(@) S > URT > AH

(b) T > URT > XTI

(0 I > | > URI

(d) I > WA > URT

Which one of the following does not

contain silver ?
(a) Horn silver (b) German silver

(c) Ruby silver (d) Lunar caustic

Freifeiea % 9 oot ua ¥ vor 18 ey 2
(a) B fRyeax (b) W7 Riear
(0 wdl Riear (d) IR FReH

Which one of the following is also called
Stranger Gas ?

(&) Argon (b) Neon

() Xenon (d) Nitrous oxide
Frifefed & & fg B W

R ¢ ? TR A
(a) 3mfq b) fya

() it (@ 5w sitwige

Which one of the f
1
widely useq for o win

1 € Polymers ig
Materia] ? Making

bullet Proof

(a) Polyvlnyl chloride
(b) Polyamideg

(c) Polyethylene

(d) Polycarbonates



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

98. YelcyF Wonf g @ forv AEfRE § W

99.

99.

1 g g B & 2
(a) UifiTEe wiNEs
b) vifetwge

(c) Uifcrefdrcis

(d) UifcrpEme

The offending substance in the liquor
tragedies leading to blindness etc. is

(@) ethyl alcohol (b) amyl alcohol

(c) benzyl alcohol (d) methyl alcohol
S ¥R FEfedl # e gRomRasy 3
anfe exlt 2, gfva werf 2

(a) TR Tedle @ (b) U TerTd

(@ IFo TepEd  (d) A Tedlelet

100, Which one of the following was used

100.

GET IT ON
Google Play

a chemical weapon in the first wo
war? v

(a) Carbon monoxide
(b) Hydrogen cyanide
(c) Mustard gas

(d) Water gas ' "T.f:

umﬁsagaﬁﬁqﬁrf@ﬁﬁ@m@
wmﬁfﬁargaa%mﬁmmwm

(@) BEd AABTATES

(b) TESNA ARAIES
(c) H’\'E@;ﬁ‘\'?

(d) 9 IR 4


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




